H

(O8]
VHEDOEH I p W

r: b
3Wr==11r7= (&Y HFY) (2] o

®
v 4)461 ° 5)586 4) 851

v 2)695 = 2)235 o 9)958

- 3)389 v 7)746 v 2)495

(1/4)



H

[0}
L) HEDOEH

r: b
3Wr==11r7= (&Y HFY) (2]

®
v 3)928 ° 7) 782 2)233

v 5)546 = 8)893 o 3)374

- 3)671 2)439 v 2)259

(2/4)



H

[0}
L) HEDOEH

r: b
3Wr==11r7= (&Y HFY) (2]

®
v 3)379 ° 5)591 9)960

v 7)795 = 2)891 o 6)677

- 2)217 4)411 v 3)385

(3/4)



H

[0}
L) HEDOEH

r: b
3Wr==11r7= (&Y HFY) (2]

®
v 5)512 ° 9)96 2 6) 657

v 8)845 = 7) 767 o 2)299

- 41498 5)577 v 3)383

(4/4)



&
!

{mi
o

ok

<5

v) [2]

“jm

HE

SiFr==111r7= (&)

(1/4)



&
!

{mi
o

ok

<5

v) [2]

“jm

HE

SiFr==111r7= (&)

(2/4)



&
!

{mi
o

ok

<5

v) [2]

“jm

HE

SiFr==111r7= (&)

(3/4)



&
!

{mi
o

ok

<5

v) [2]

“jm

HE

SiFr==111r7= (&)

(4/4)



	3-1-amari-2warizan-1
	3-1-amari-2warizan-1a

